
qm=;+= cfly{s ljsf; k|:tfljt /sd s}lkmot g=kf=

    1  kf]v/L lgdf{)f j*f g+= 3 df 3 j^f, j*f g+= 2 df 1 j^f, j*f g+= 7 
df 1 j^f, j*f g+= 6 df 2 j^f, j*f g+= 8 df 1 j^f / j*f g+= 1 df 
15 j*f hUuf klxrfg u/L pkef]Qm ;ldlt tyf gu/kflnsfaf^ ul/g]         4,000,000.00 

   2  cGt/ gu/kflnsf tyf ufp+kflnsf;+u ;fem]bf/Ldf sfo{ ug]{          1,000,000.00 

   3 
 s[lif tkm{ oflGqs ldgL ^«]n/ 70k|ltzt cg'bfgdf 8 yfg 
gu/kflnsfn] pknAw u/fpg] ;f] 30 k|ltzt cg'bfgaf^ p&]sf] 
/sd / af+sL /sdaf^ s[ifs e]nf tyf uf]i&L sfo{ ug]{         1,200,000.00 

   4  kz' tkm{ gk'u sd{rf/LnfO{ tna Aoj:yfkg af+sL /sd #f+; ljp 
ljt/)f           400,000.00 
 hDdf         6,600,000.00 

1 l;kd'ns cfo cfh{g tflnd tyf d]lzg tyf Ifdtf ljsf; 250,000.00         

2
blnt cflbjf;L tyf hghflt / lk%*fju{nfO{ Ifdtf ljsf; uf]i&L 90,000.00           
hDdf 340,000.00         

1 gx/ b]lv ;fgf] hutk'/ tkm{ cfpg] s'nf] 150,000.00          
2 dfx'/L kfng tflnd 150,000.00          
3 blnt ljkGgx?nfO{ jfv|f kfng ;xof]u 50,000.00           

hDdf 350,000.00         
1 *f]/f af+w lgd{f)f 100,000.00          
2 100,000.00          
1 led bf; af+w dd{t ;Def/ sfo{ 100,000.00          

hDdf 100,000.00          
1 v]^/fh ;'j]bLsf] v]t ghLs s'nf]df sne^{ lgdf{)f 50,000.00           
2 *f]/f af+w lgd{f)f 100,000.00          
3 /fhs'df/ #/ glhssf] s'nf]fdf nfj/ lgdf{)f 280,000.00         
4 ;xsf/L k|jw{g 150,000.00          hu]*f sf]if

5 lzkd'ns, /f]huf/d'ns cGo sfo{qmd 350,000.00         hu]*f sf]if

hDdf 930,000.00         
1 blnt lzif{s cGtu{t jfv|f ;f^f;f^ sfo{qmd 50,000.00           
2 ckf+u sfo{qmd 50,000.00           
3 uf}/Lz+s/ Snj k%f*Laf^ df=lj= ;Ddsf] s[lif ;*s lgdf{)f 200,000.00         
4 hutk'/ ljBfno k%f*Lsf] gx/ hf]*g]] s[lif ;*s dd{t 275,000.00         
5 o'jf v]ns'b sfo{qmd 100,000.00          
8 jfnjflnsfsf] sfo{qmd 50,000.00           

hDdf 725,000.00         
1 o'jfx?sf] lzkd'ns tflnd ;+rfng 200,000.00         
2 s[lif s'nf] / -j*f ;Dk')f_ ;/;kmfO{ tyf dd{t ;Def/ 150,000.00          

hDdf 350,000.00         
hDdf 9,495,000.00       

gu/ 
:tl/o

j*f g+= 9

j*f g+= 1

xl/k'/ gu/kflnsf
s[lif ljsf;, kz'ljsf;, ;xsf/L k|jw{g, lzkd'ns, cfod'ns, /f]huf/d'ns tflnd tyf cGo sfo{qmdx?

j*f g+= 2

j*f g+= 7

j*f g+= 8

j*f g+= 6

j*f g+= 5


